I8’s A WMmystBery (but not mysterious) ...

Part 4
Unit 4
This section will require 71 WOF strip of fabric for each segment, not a strip set.
Fabric A: 1 strip 2” wide, cut in 12 - 2” squares
Fabric C: 3 strips 2” wide

Fabric D: 2 strips 3-1/2” wide

Fabric E: 2 strips 3-1/2” wide
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Sew the strips together in this sequence = "c"' v
Cut the sewn strips into 17 ea. 2” segments.

Nine of these will be vertical sashing. D
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Sew the remaining 8 segments with 3 - 2” square Fabric A to make horizontal sashing as shown (1 - A
square at each end, and 1 - A square in the center).




